;> restart,

> = sin® (P (3 1 (%, =x,) ) ) sin(2-Pi (0 4 (15 = 3) ) );

I u:=sin(m (X +1(x—x))) )ZSin(2 Ty Tt (n—n) ))

> fu = unapply( u, t, X, X5, yl,yz);

fu=(tx_Lx 2,y Ly 2)—sin(r (x_ +¢(x 2 —x_1))) sin(2m (y_[ +1(y 2=y 1))
=> Fu = int(fu(t, X1 xz,yl,yz), 1);

1 ocos((-2my,+2my)t—2my))

Fu:=—
2 2wy, +2my,
1 cos((—21ty2+21ty1—21tx2+21tx1)t—ZTcyl—ZTcxl)
4 -2my, +2my, —27mx, +2 Wy,
it cos((2my,—2my; —2mx, +271x)) (+27my, —27x))
4 2ny,—2my, —27x, +2 WX,
>

B vi==sin’ (Pi- (3 + 1 (v, =) ) ) -sin(2-Pi- (x, + - (x, = x,) ) )

] vim ssin(m (v + 1 (0, —0))) sin(2 W (x + 1 (xr,—x) ) )

_> fvi= unapply(v, LX), Xy yl,yz);

A= (6x 1x 2,y Ly 2)—-sin(r (v 1 +1 (v 2=y 1)) sin(2m (x_I +1 (x 2 —x_1)))

_> Fv:= int(ﬁ/(t, X Xy, yl,yz), t);
cos( ( -2 mx, +2Tcx1) t—2nx1)

1
2 —27tx2+27tx1

Fv:=-

cos((—21ty2+21ty1—21tx2+21tx1) t—2ny1—2nx1)

L1
4 -2my, +2my, —27mx, +2 Wy,

cos((Znyz—Zﬂ:yl—2nx2+2nx1> t+271:y1—27tx1)

1
+_
4 2my,—2my, —2mx, +2 X,

cos(2 Tcyz) 1 cos(2 Tcy2+27cx2)

>
1
2 -2ny, +27my, 4 27y, +2my, —27nx,+21x,
1 cos(-2my, +21x,)

+_
4 2ny,—2my, —2Tx, +2 WX,

=> Fut == unapply(Fu, t);
cos((-2my,+2my)t—2my)

Fut:=t— —
2 21y, +2my,
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)
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(4)
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()

(8)



1 cos((—27ty2+27ty1—27tx2+27tx1) t—2n‘y1—2n‘x1)
4 2ny,+2ny, —2nx, +2Tx,

1 cos((ZnyZ—Znyl—21tx2+21tx1) t+21ty1—21tx1)
4 2ny,—2my, —27x, +21mx,

+

_> Fvt := unapply(Fv, t),
cos((-2mx,+2mx, )t —27x
th:=t—>—% { 2 ) ) ©)

2nx, +2mx,
1 cos((—27ty2+27ty1—27tx2+27tx1)t—2n‘y1—2n‘x1)
4 2ny,+2ny, —2nx, +2Tx,

_|_

1 cos((ZnyZ—Znyl—21tx2+21tx1) t+21ty1—21tx1)
4 2ny,—2my, —27x, +21mx,

+

_> avgu = unapply(Fut( 1) — Fut(0), x;, X, yl,yz);
1 cos(2my 2) (10)

aveu:=(x I,x 2,y 1,y 2)——
& SR 2 -2ny 2+2mny 1

1 cos(2my 2+2mx 2)
4 omy242my l-2mx 2+2mx [
1 cos(-2my 2+2mx 2) 1 cos(2my 1)
4 dmy2—2myl—2nx2+2nxl 2 -2my2+42my I
L1 cos(2my I+2nx 1)
4 2ny 242ny 1—2nx 2+27nx I
1 cos(-2my I+2mx 1)

4 2pyo2-—2nyl-2mx2+2mx ]

_> avgy = unapply(th( 1) — Fvt(0), x;, x,, yl,yz);

1 cos(2mx 2)

avev:=(x I,x 2,y 1,y 2)—>-— = 11
BT AT 2 -2mx2+42mnx_1 (D

L1 cos(2my 2+2mx 2)
4 2mny2+42my 1—27nx 2+27nx I
1 cos(-2my 2+2mx 2)
4 2my2—2my l—2mx 2+2mx
1 cos(2my I+2nmx 1)

4 omyo42myl-2mx2+2mxl
1 cos(-2my I+2mx 1)

4 2nyo2—2nyl-2mx2+2mx ]

cos(2mx 1)
-2nx 2+27wx 1

+

l\)l»—*

>avu(1-x l-x 1- 1-)'
¥ 2pi v 2pi 2 op Y o2pi P2)

ra A\



1ocos(n) 1 cos(htn) 1 eos(th )
2 -V, T 4 Yy, Ty —x, +x; 4 Yy =V — X X

_ 1 ocosn)

1 cos(xl)

1 cos(y1 +x1) 1 cos( - +x1)
4 -y, +y —x,+x 4 y, =y, —x,tx
> av ( I X I "X L L )
E02pi " 2pi 2 2pi Y o2pi 2)
1 cos(xz) 1 cos(y2+x2) 1 cos( —y2+x2)
2 -x,+x; 4 -y, +y, —x,+x 4 y,—y,—x,+tx
1 cos(y1 +x1) 1 cos( - +x1)

4 =y, ty; —x, +x 4 Yy =YV — X, +x;



